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PART A

Thiz peerr covers omindy Chaprers 13 af ook 2, and
carries % of the marks for iy acchnemend,

Q1  Images taken from  pesing spacecrall reveal that
an asteroid 24 km in diameter has 2 tiny companion
sateliite orbiting it & a distance of 13.7 km with a period
of 1.6 hours. What i3 the mass of the asteroid”? Choose
froom the key Lhe answer nearesl o yours.

KEY for 1

A LT 10k E 6.1x%10%kg
B 6% 10 kg Foodbx M ke
48w 0¥ kg G TR = ke

D 57x 10" ke

Penctl across are cell inorow |,

2 Which rwe of the following lines of evidence

imlicate maost steongly that the Moon was formed as 5

result of o giant impact on the Exnh?

ELEY for 2

A The radivs of the Moon™s core is o smaller frecton
of the Moon's diameter than the radius of the
Earth’s core 15 af the Ewsh’s diameger. 7

B The Earth sawd the Moon have siolar abamdances of
railicnctive, heat-producing isotopes. v

C The Earth and the Moon have manthes with sioalan

A0 il AlLO, abumdances. x_.-’;
[ The Earth and the Moon shame similie gy sen
psorlope charnctensies: In-

E  The Moon™s mantle iz enriched in tianien relaive
o the Earih's,

F The Moon™s coee i3 smaller than the Earih's.

00 The Moon iz depleted iovolatile clements nelatoe o
the Earth.

Pepeil across pwe cells inorow 2

03 How does the tomal heat production from
rndioactive motopes in the Earth today compare with
that immediately after it formed? {Refer to Table 3.2 1=
it:

KEY for Q3

',: ol the primordial tatal,

=

B of the primordial total.

C of the primeordial ol

D of the primordial total.

E i of the primordial total.

F ,': il the primordial ool

G = of the primordial ol

H Mol possible o answer this guestion with the

availzhle information,

Peacil across ane cell morow 3.

(4 The terrestrial impact crater at Chicaulub in

Mexico, which is thought 10 have been associated with

the death of the dirossurs, is horied by younger

deposits. Tt is inferred 1o have a diameter of about 18I}

km. If a comparable impact were to alfect the Moon

next Thursday, what som of siructune woulkd we expest

tor e the following day’?

EEY lor )4

f A crmer with terraces and @ single central peak.

B A craier with o complex central peak or fragmeniary
Ting,

C A crater with o complex central peak or Teagmentary
ring ond well developed ojecta rays,

A crater with s complex cenfral peak o [ragmentary
ring. well developed ¢jecta eays and impaet melt

E A peak-ning basin with cjecia mays and impact mel.

F A mali-ringed hasin with specta rays and impact
mekL.

G A multi-ringed hasin with ejecta rays and impact
melt. (fooded by bagall lavas.

Poncil acroass one cell in nowr 4.



